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RE AR ERER RIRXILF—HFR

[EFEA : & LTI [BFA - £ & LTHERE]

S8 - RABEHEE S - ROBIEFHEE
i 25 g FHEEE (%) o =4 xs FHEEE (%)
~ e | | = | TR S o ? e | Ax | x| FER 2D
HeoL - ML 4 |79.5 [73.3 [78.2 | 75.4 £ & 2t 12 |75.6 |68.7 [72.7 |70.4
ey (B S & 4 |87.8 |83.9 [87.0 | 85.7 o | B 12 [72.2 |62.8 [67.8 {66.0
DEEF s & 6 |75.0 [72.1 [76.3 | 73.8 DEE g 8 [60.6 |53.7 |57.6 |57.4
EMMLEEL L BEORE AT 5%E| 18 |71.5 |74.5 [77.8 | 77.2 BEHOER 4 162.5 [53.2 |58.6 |57.6
EE~OBL - BAX - BE 0 - - - - MEADBID - BN - BE 0 - - - -
T - ECEED 4 |79.5 [73.3 [78.2 | 75.4 oy [BEOBAACELS 0 - - - -
FEOBA |Z< 8N 4 |87.8 |83.9 [87.0 | 85.7 BRI RS 20 [71.7 |65.0 |69.9 {68.2
BOREN 6 |75.0 [72.1 [76.3 | 73.8 YE ORI EISDNTOME - B8 | 16 [67.1 |57.6 |[61.4 |60.2
SEICDOVTOE; - B - HEe 18 [71.5 |74.5 (77.8 | 71.2

[EfEB : £ & LTERA] [#FB : & LTEHA]

S8 - RABIEHEE S - ROBIEFEE
o 4 *Ig%zﬁ ‘w‘“i’ﬂIEga*éﬁ%) o N i%%la $i'=JIE§$£%)
e ? ) | A | B |G| 28 o ? ) | A | B | GRS | A5
HeoL ML 3 |78.2 [70.0 [73.9 [72.4 et 3 [(48.1 [42.7 |48.2 |46.3
smenmey (B S & 4 |68.4 |56.9 [62.7 [60.8 smmmeg | B 6 [51.9 (43.9 |49.6 |47.1
DEEF e & 4 |75.3 [68.4 [73.0 [72.1 DEE g 3 [52.3 [48.3 |53.2 |50.8
EHMLEEE EEENHEICETSEE| 1 [52.8 [35.3 [43.5 |41.4 BEROER 3 148.1 (46.8 |49.7 [49.1
EE~OEL - B - BE 3 |65.3 |51.7 |57.4 [55.9 MEADBID - BN - BE 0 - - -
ST - B<EED 3 |78.2 (70.0 [73.9 [72.4 oy RENERAPEAS 10 [38.1 [34.2 [38.8 [36.8
FEOBS |Z< BN 4 |68.4 |56.9 [62.7 [60.8 BRI FRAE 3 [68.5 [57.4 |64.4 |61.2
RS 4 |75.3 [68.4 [73.0 [72.1 YEORBLECOLTOM®E - 22 | 2 [85.4 [81.3 [84.9 [85.1
EECOVNTOME - IR - e 1 [52.8 [35.3 [43.5 |41.4
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N
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EEARAERRE RIRILIFTFEEPIR -

[EFEA : & LTI [BFA - £ & LTHERE]

S8 - RABEHEE S - ROBIEFHEE
i 25 g THEEE (%) o =4 58S THEEE (%)
~ e | | = | TR S o ? e | Ax | x| FER 2D
HeoL - ML 4 |72.9 [73.3 [78.2 | 75.4 £ & 2t 12 |71.4 68.7 [72.7 |[70.4
ey (B S & 4 |84.6 [83.9 [87.0 |85.7 o | B 12 |67.7 |62.8 [67.8 [66.0
DEEF s & 6 |71.7 [72.1 [76.3 | 73.8 DEE g 8 [57.6 |53.7 |57.6 |57.4
T EEX L L EEDFEICET5=E| 18 |77.6 |74.5 |771.8 | 77.2 BEHDER 4 [59.9 (53.2 [58.6 |57.6
EE~OBL - BAX - BE 0 - - - - MEADBID - BN - BE 0 - - - -
T - ECEED 4 |72.9 [73.3 [78.2 [ 75.4 oy RENERAPEAS 0 - - - -
FEOBA |Z< 8N 4 |84.6 [83.9 [87.0 |85.7 BRI RS 20 [69.3 |65.0 |69.9 |68.2
HORER 6 |71.7 [72.1 [76.3 | 73.8 YEORMBLEECDNTOMSE - 2 | 16 |61.5 |57.6 |61.4 |60.2
SEICDOVTOE; - B - HEe 18 [77.6 |74.5 (77.8 | 71.2

[EfEB : £ & LTERA] [#FB : & LTEHA]

S8 - RABIEHEE S - ROBIEFEE
o 4 *Ig%zﬁ ‘w‘“i’ﬂIEga*éﬁ%) o N i%%la $i'=JIE§$£%)
e ? ) | A | B |G| 28 o ? ) | A | B | GRS | A5
HeoL ML 3 |68.7 |70.0 [73.9 [72.4 et 3 (44.9 [42.7 |48.2 |46.3
smenmey (B S & 4 |53.0 |56.9 [62.7 [60.8 smmmeg | B 6 [46.7 (43.9 |49.6 |47.1
DEEF e & 4 |65.4 [68.4 [73.0 [72.1 DEE g 3 [52.0 (48.3 |53.2 |50.8
EHMLEEEEEEOHEICEYSEE| 1 [31.1 [35.3 |43.5 |41.4 BEROER 3 148.6 (46.8 |49.7 (49.1
EE~OEL - B - BE 3 |48.8 |51.7 |57.4 [55.9 MEADBID - BN - BE 0 - - -
ST - B<EED 3 |68.7 [70.0 [73.9 [72.4 oy RENERAPEAS 10 |36.6 |34.2 [38.8 [36.8
FEOBS |Z< BN 4 |53.0 |56.9 [62.7 [60.8 BRI FRAE 3 [63.0 [57.4 |64.4 |61.2
RS 4 |65.4 [68.4 [73.0 [72.1 YEORBLECOLTOM®E - 22 | 2 [81.1 [81.3 [84.9 [85.1
EECOVNTOME - IR - e 1 [81.1 [35.3 [43.5 |41.4
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wW
|



EEARAERRE RIRIFTFEEPFR -

[EFEA : & LTI [BFA - £ & LTHERE]

S8 - RABEHEE S - ROBIEFHEE
i 25 g FHEEE (%) o =4 xs FHEEE (%)
~ e | | = | TR S o ? e | Ax | x| FER 2D
HeoL - ML 4 79.3 [73.3 [78.2 | 75.4 £ & 2t 12 176.3 |68.7 [72.7 |70.4
ey (B S & 4 |87.0 |83.9 [87.0 | 85.7 o | B 12 [67.0 |62.8 [67.8 {66.0
DEEF s & 6 |75.6 [72.1 [76.3 | 73.8 DEE g 8 [63.3 |53.7 |57.6 |57.4
EMMLEEXL L BEORE AT 5%E| 18 |77.4 |74.5 [77.8 | 77.2 BEHOER 4 163.2 [53.2 |58.6 |57.6
EE~OBL - BAX - BE 0 - - - - MEADBID - BN - BE 0 - - - -
T - ECEED 4 |79.3 [73.3 [78.2 [ 75.4 oy [BEOBAACELS 0 - - - -
FEOBA |Z< 8N 4 |87.0 |83.9 [87.0 | 85.7 BRI RS 20 [73.0 |65.0 |69.9 {68.2
BOREN 6 |75.6 [72.1 [76.3 | 73.8 YE ORI EISDNTOME - B8 | 16 [63.7 |57.6 |61.4 |60.2
SEICDOVTOE; - B - HEe 18 [77.4 |74.5 (77.8 | 71.2

[EfEB : £ & LTERA] [#FB : & LTEHA]

S8 - RABIEHEE S - ROBIEFEE
o 4 *Ig%zﬁ ‘w‘“i’ﬂIEga*éﬁ%) o N i%%la $i'=JIE§$£%)
e ? ) | A | B |G| 28 o ? ) | A | B | GRS | A5
HeoL ML 3 |74.8 [70.0 [73.9 [72.4 et 3 [47.0 [42.7 |48.2 |46.3
smenmey (B S & 4 |60.6 |56.9 [62.7 [60.8 smmmeg | B 6 [46.7 (43.9 |49.6 |47.1
DEEF e & 4 |70.9 [68.4 [73.0 [72.1 DEE g 3 [56.0 (48.3 |53.2 |50.8
EHMLEE L EEOEEICEYSEE| 1 [37.4 [35.3 |43.5 |41.4 BEROER 3 |51.6 [46.8 |49.7 [49.1
EE~OEL - B - BE 3 |55.6 |51.7 |57.4 [55.9 MEADBID - BN - BE 0 - - -
ST - B<EED 3 |74.8 [70.0 [73.9 [72.4 oy RENERAPEAS 10 |37.3 [34.2 [38.8 [36.8
FEOBS |Z< BN 4 |60.6 |56.9 [62.7 [60.8 BRI FRAE 3 [64.5 |57.4 |64.4 |61.2
RS 4 |70.9 [68.4 [73.0 [72.1 YEORBLECOLTOM®E - 22 | 2 [88.9 [81.3 [84.9 [85.1
EECOVNTOME - IR - e 1 [87.4 [35.3 [43.5 |41.4

|
N
|



RE AR ERER JB3L X 3L 58 M AR

[EFEA : & LTI [BFA - £ & LTHERE]

S8 - RABEHEE S - ROBIEFHEE
i 25 g FHEEE (%) o =4 xs FHEEE (%)
~ e | | = | TR S o ? e | Ax | x| FER 2D
HeoL - ML 4 |81.0 [73.3 [78.2 [75.4 £ & 2t 12 178.0 |68.7 [72.7 |70.4
ey (B S & 4 190.9 (83.9 [87.0 | 85.7 o | B 12 [71.2 |62.8 [67.8 {66.0
DEEF s & 6 |80.7 [72.1 [76.3 | 73.8 DEE g 8 [60.8 |53.7 |57.6 |57.4
EMMLEEL L BEORE AT 5%E| 18 |78.0 |74.5 [77.8 | 77.2 BEHOER 4 166.8 [53.2 |58.6 |57.6
EE~OBL - BAX - BE 0 - - - - MEADBID - BN - BE 0 - - - -
T - ECEED 4 |81.0 [73.3 [78.2 [75.4 oy [BEOBAACELS 0 - - - -
FEOBA |Z< 8N 4 190.9 (83.9 [87.0 | 85.7 BRI RS 20 [75.4 |65.0 |69.9 {68.2
BOREN 6 |80.7 [72.1 [76.3 | 73.8 YE ORI LSO TOME - B8 | 16 |64.7 |57.6 |[61.4 |60.2
SEICDOVTOE; - B - HEe 18 [78.0 (74.5 (77.8 | 71.2

[EfEB : £ & LTERA] [#FB : & LTEHA]

S8 - RABIEHEE S - ROBIEFEE
o 4 *Ig%zﬁ ‘w‘“i’ﬂIEga*éﬁ%) o N i%%la $i'=JIE§$£%)
e ? ) | A | B |G| 28 o ? ) | A | B | GRS | A5
HeoL ML 3 |76.7 |70.0 [73.9 [72.4 et 3 [51.4 [42.7 |48.2 |46.3
smenmey (B S & 4 |68.3 |56.9 [62.7 [60.8 smmmeg | B 6 [53.5 (43.9 |49.6 |47.1
DEEF e & 4 |76.8 [68.4 [73.0 [72.1 DEE g 3 [64.8 |48.3 |53.2 |50.8
EHMLEEEEEEOHEICETSEE| 1 [45.6 [35.3 |43.5 |41.4 BEROER 3 |55.5 (46.8 |49.7 [49.1
EE~OEL - B - BE 3 |63.2 |51.7 |57.4 [55.9 MEADBID - BN - BE 0 - - -
ST - B<EED 3 |76.7 [70.0 [73.9 [72.4 oy RENERAPEAS 10 |43.5 [34.2 [38.8 [36.8
FEOBS |Z< BN 4 |68.3 |56.9 [62.7 [60.8 BRI FRAE 3 (74.4 |57.4 |64.4 |61.2
RS 4 |76.8 [68.4 [73.0 [72.1 YEORBLECOLTOM®E - 22 | 2 [88.9 [81.3 [84.9 [85.1
EECOVNTOME - IR - e 1 [45.6 [35.3 [43.5 |41.4
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|



RE AR ERER RIRXIIFRDPFR

[EFEA : & LTI [BFA - £ & LTHERE]

S8 - RABEHEE S - ROBIEFHEE
i 25 g FHEEE (%) o =4 xs FHEEE (%)
~ e | | = | TR S o ? e | Ax | x| FER 2D
HeoL - ML 4 |77.3 [73.3 [78.2 | 75.4 £ & 2t 12 166.8 |68.7 [72.7 |70.4
ey (B S & 4 |87.9 |83.9 [87.0 | 85.7 o | B 12 163.0 |62.8 [67.8 {66.0
DEEF s & 6 |70.7 [72.1 [76.3 | 73.8 DEE g 8 [52.4 |53.7 |57.6 |57.4
EMMLEEXL L BEORE AT 5%E| 18 |78.3 |74.5 [77.8 | 77.2 BEHOER 4 |57.3 [53.2 |58.6 |57.6
EE~OBL - BAX - BE 0 - - - - MEADBID - BN - BE 0 - - - -
T - ECEED 4 |77.3 [73.3 [78.2 [ 75.4 oy [BEOBAACELS 0 - - - -
FEOBA |Z< 8N 4 |87.9 |83.9 [87.0 | 85.7 BRI RS 20 [64.2 |65.0 |69.9 |68.2
BOREN 6 |70.7 [72.1 [76.3 | 73.8 YE ORI EISDLTOME - B8 | 16 |57.6 |57.6 |61.4 |60.2
SEICDOVTOE; - B - HEe 18 [78.3 |74.5 (771.8 | 71.2

[EfEB : £ & LTERA] [#FB : & LTEHA]

S8 - RABIEHEE S - ROBIEFEE
o 4 *Ig%zﬁ ‘w‘“i’ﬂIEga*éﬁ%) o N i%%la $i'=JIE§$£%)
e ? ) | A | B |G| 28 o ? ) | A | B | GRS | A5
HeoL ML 3 |70.7 [70.0 [73.9 [72.4 et 3 (43.1 [42.7 |48.2 |46.3
smenmey (B S & 4 |58.8 |56.9 [62.7 [60.8 smmmeg | B 6 [43.9 (43.9 |49.6 |47.1
DEEF e & 4 168.9 [68.4 [73.0 [72.1 DEE g 3 [49.5 [48.3 |53.2 |50.8
EHMLEEEEEEOHEICEYSEE| 1 [36.4 [35.3 |43.5 |41.4 BEROER 3 |54.2 (46.8 |49.7 (49.1
EE~OEL - B - BE 3 |51.9 {51.7 |57.4 [55.9 MEADBID - BN - BE 0 - - - -
ST - B<EED 3 |70.7 {70.0 [73.9 [72.4 oy RENERAPEAS 10 |34.6 [34.2 [38.8 [36.8
FEOBS |Z< BN 4 |58.8 |56.9 [62.7 [60.8 BRI FRAE 3 [59.9 [57.4 |64.4 |61.2
RS 4 168.9 [68.4 [73.0 [72.1 YEORBLECOLTOM®E - 22 | 2 [88.9 [81.3 [84.9 [85.1
EECOVNTOME - IR - e 1 [86.4 [35.3 [43.5 |41.4

|
(=2}
|



RE AR ERER IR FNPER

[EFEA : & LTI [BFA - £ & LTHERE]

S8 - RABEHEE S - ROBIEFHEE
i 25 g FHEEE (%) o =4 xs FHEEE (%)
~ e | | = | TR S o ? e | Ax | x| FER 2D
HeoL - ML 4 |71.7 [73.3 [78.2 | 75.4 £ & 2t 12 |64.5 |68.7 [72.7 |70.4
ey (B S & 4 |83.2 |83.9 [87.0 | 85.7 o | B 12 |58.6 |62.8 [67.8 {66.0
DEEF s & 6 |71.0 [72.1 [76.3 | 73.8 DEE g 8 [46.1 |53.7 |57.6 |57.4
EMMLEEXL L BEORE AT 5%E| 18 |72.8 |74.5 [77.8 | 77.2 BEHOER 4 |48.8 [53.2 |58.6 |57.6
EE~OBL - BAX - BE 0 - - - - MEADBID - BN - BE 0 - - - -
T - ECEED 4 |71.7 [73.3 [78.2 | 75.4 oy [BEOBAACELS 0 - - - -
FEOBA |Z< 8N 4 183.2 |83.9 [87.0 | 85.7 BRI RS 20 [60.8 |65.0 |69.9 |68.2
BOREN 6 |71.0 [72.1 [76.3 | 73.8 YE ORI EISDNTOME - B8 | 16 |51.6 |57.6 [61.4 |60.2
SEICDOVTOE; - B - HEe 18 [72.8 |74.5 (77.8 | 71.2

[EfEB : £ & LTERA] [#FB : & LTEHA]

S8 - RABIEHEE S - ROBIEFEE
o 4 *Ig%zﬁ ‘w‘“i’ﬂIEga*éﬁ%) o N i%%la $i'=JIE§$£%)
e ? ) | A | B |G| 28 o ? ) | A | B | GRS | A5
HeoL ML 3 |71.83 [70.0 [73.9 [72.4 et 3 (38.9 (42.7 |48.2 |46.3
smenmey (B S & 4 162.9 |56.9 [62.7 [60.8 smmmeg | B 6 [40.0 (43.9 |49.6 |47.1
DEEF e & 4 |71.0 [68.4 [73.0 [72.1 DEE g 3 [(43.3 |48.3 |53.2 |50.8
EHMLEEEEEEOHEICETSEE| 1 [40.2 [35.3 |43.5 |41.4 BEROER 3 143.3 |46.8 |49.7 (49.1
EE~OEL - B - BE 3 |56.1 |51.7 |57.4 [55.9 MEADBID - BN - BE 0 - - -
ST - B<EED 3 |71.3 [70.0 [73.9 [72.4 oy RENERAPEAS 10 |29.4 {34.2 [38.8 [36.8
FEOBS |Z< BN 4 |62.9 |56.9 [62.7 [60.8 BRI FRAE 3 [52.6 |57.4 |64.4 |61.2
RS 4 |71.0 [68.4 [73.0 [72.1 HEORBLECOLNTOM®E - 22 | 2 [82.2 [81.3 [84.9 [85.1
EECOVNTOME - IR - e 1 140.2 [35.3 |43.5 |41.4
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RE AR ERER RIRXILFEHFR

[EFEA : & LTI [BFA - £ & LTHERE]

S8 - RABEHEE S - ROBIEFHEE
i 25 g FHEEE (%) o =4 xs FHEEE (%)
~ e | | = | TR S o ? e | Ax | x| FER 2D
HeoL - ML 4 |75.6 [73.3 [78.2 | 75.4 £ & 2t 12 [72.1 |68.7 [72.7 |70.4
ey (B S & 4 |84.8 |83.9 [87.0 | 85.7 o | B 12 [59.5 |62.8 [67.8 {66.0
DEEF s & 6 |76.7 [72.1 [76.3 | 73.8 DEE g 8 [52.7 |53.7 |57.6 |57.4
EMMLEEL L BEORE AT 5%E| 18 |77.3 |74.5 [77.8 | 77.2 BEHOER 4 |47.2 (53.2 |58.6 |57.6
EE~OBL - BAX - BE 0 - - - - MEADBID - BN - BE 0 - - - -
T - ECEED 4 |75.6 [73.3 [78.2 [ 75.4 oy [BEOBAACELS 0 - - - -
FEOBA |Z< 8N 4 |84.8 |83.9 [87.0 | 85.7 BRI RS 20 [65.6 |65.0 |69.9 |68.2
BOREN 6 |76.7 [72.1 [76.3 | 73.8 YE ORI LSO TOME - B8 | 16 |54.8 |57.6 |61.4 |60.2
SEICDOVTOE; - B - HEe 18 [77.3 |74.5 (771.8 | 71.2

[EfEB : £ & LTERA] [#FB : & LTEHA]

S8 - RABIEHEE S - ROBIEFEE
o 4 *Ig%zﬁ ‘w‘“i’ﬂIEga*éﬁ%) o N i%%la $i'=JIE§$£%)
e ? ) | A | B |G| 28 o ? ) | A | B | GRS | A5
HeoL ML 3 |74.5 [70.0 [73.9 [72.4 et 3 [45.0 [42.7 |48.2 |46.3
smenmey (B S & 4 |59.3 |56.9 [62.7 [60.8 smmmeg | B 6 [44.7 (43.9 |49.6 |47.1
DEEF e & 4 |71.5 68.4 [73.0 [72.1 DEE g 3 [51.2 (48.3 |53.2 |50.8
EHMLEEEEEEOHEICEYSEE| 1 [34.1 [35.3 |43.5 |41.4 BEROER 3 143.9 (46.8 |49.7 (49.1
EE~OEL - B - BE 3 |53.7 |51.7 |57.4 [55.9 MEADBID - BN - BE 0 - - -
ST - B<EED 3 |74.5 [70.0 [73.9 [72.4 oy RENERAPEAS 10 |35.3 [34.2 [38.8 [36.8
FEOBS |Z< BN 4 |59.3 |56.9 [62.7 [60.8 BRI FRAE 3 [60.2 [57.4 |64.4 |61.2
RS 4 |71.5 (68.4 [73.0 [72.1 YEORBLECOLTOM®E - 22 | 2 |77.6 |81.3 [84.9 [85.1
EECOVNTOME - IR - e 1 [34.1 [35.3 [43.5 |41.4

|
oo
|



RE AR ERER AR E NP FR

[EFEA : & LTI [BFA - £ & LTHERE]

S8 - RABEHEE S - ROBIEFHEE
i 25 g FHEEE (%) o =4 xs FHEEE (%)
~ e | | = | TR S o ? e | Ax | x| FER 2D
HeoL - ML 4 |73.0 [73.3 [78.2 | 75.4 £ & 2t 12 [71.7 |68.7 [72.7 |70.4
ey (B S & 4 181.9 [83.9 [87.0 | 85.7 o | B 12 [65.2 |62.8 [67.8 {66.0
DEEF s & 6 |70.8 [72.1 [76.3 | 73.8 DEE g 8 [55.0 |53.7 |57.6 |57.4
EMMLEEL L BEORE AT 5%E| 18 |75.9 |74.5 [77.8 | 77.2 BEHOER 4 |56.2 [53.2 |58.6 |57.6
EE~OBL - BAX - BE 0 - - - - MEADBID - BN - BE 0 - - - -
T - ECEED 4 |73.0 [73.3 [78.2 [ 75.4 oy [BEOBAACELS 0 - - - -
FEOBA |Z< 8N 4 181.9 |83.9 [87.0 | 85.7 BRI RS 20 [69.3 |65.0 |69.9 |68.2
BOREN 6 |70.8 [72.1 [76.3 | 73.8 YE ORI EISDLTOME - B8 | 16 |57.6 |57.6 |61.4 |60.2
SEICDOVTOE; - B - HEe 18 [75.9 (74.5 (77.8 | 71.2

[EfEB : £ & LTERA] [#FB : & LTEHA]

S8 - RABIEHEE S - ROBIEFEE
o 4 *Ig%zﬁ ‘w‘“i’ﬂIEga*éﬁ%) o N i%%la $i'=JIE§$£%)
e ? ) | A | B |G| 28 o ? ) | A | B | GRS | A5
HeoL ML 3 |65.9 [70.0 [73.9 [72.4 et 3 [49.3 [42.7 |48.2 |46.3
smenmey (B S & 4 |55.8 |56.9 [62.7 [60.8 smmmeg | B 6 [48.5 (43.9 |49.6 |47.1
DEEF e & 4 169.8 [68.4 [73.0 [72.1 DEE g 3 [(47.3 |48.3 |53.2 |50.8
EHMLEEEEEEOHEICEYSEE| 1 [37.9 [35.3 [43.5 |41.4 BEROER 3 152.4 (46.8 |49.7 (49.1
EE~OEL - B - BE 3 |50.5 |{51.7 |57.4 [55.9 MEADBID - BN - BE 0 - - -
ST - B<EED 3 165.9 [70.0 [73.9 [72.4 oy RENERAPEAS 10 |38.8 [34.2 [38.8 [36.8
FEOBS |Z< BN 4 |55.8 |56.9 [62.7 [60.8 BRI FRAE 3 [61.2 |57.4 |64.4 |61.2
RS 4 169.8 [68.4 [73.0 [72.1 YEORBLECOLTOME - 22 | 2 [83.3 [81.3 [84.9 [85.1
EECOVNTOME - IR - e 1 [87.9 [35.3 [43.5 |41.4

|
©
|



RE AR ERER RIRXILF+HFER

[EFEA : & LTI [BFA - £ & LTHERE]

S8 - RABEHEE S - ROBIEFHEE
i 25 g FHEEE (%) o =4 xs FHEEE (%)
~ e | | = | TR S o ? e | Ax | x| FER 2D
HeoL - ML 4 |83.2 (73.3]78.2 |75.4 £ & 2t 12 [77.4 |68.7 [72.7 |70.4
ey (B S & 4 |88.6 (83.9 [87.0 |85.7 o | B 12 [70.0 |62.8 [67.8 {66.0
DEEF s & 6 |79.6 [72.1 [76.3 | 73.8 DEE g 8 [61.6 |53.7 |57.6 |57.4
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smenmey (B S & 4 [47.0 [56.9 [62.7 [60.8 smmmeg | B 6 [39.6 [43.9 [49.6 |47.1
DHEEF (e 4 162.2 |68.4 [73.0 |72.1 DRI gy 3 (42.7 [48.3 |53.2 [50.8
EHMEAEELEEEOREICETSEE| 1 [26.8 |35.3 |43.5 (41.4 BEROER 3 |41.1 |46.8 |49.7 [49.1
EE~OBD - B - BB 3 |38.6 |51.7 [57.4 |55.9 MDD - B - B2 0 - - - -
59 - BM<CRER 3 162.6 (70.0 [73.9 |72.4 wmops [FEOBRAACELS 10 [28.7 |34.2 [38.8 {36.8
FHmOBE |2 BN 4 |47.0 |56.9 [62.7 |60.8 M H 75 PRAE 3 |55.3 [57.4 |64.4 |61.2
HOEEN 4 162.2 |68.4 [73.0 |72.1 MEPEMALISOVTOME - B/ | 2 [78.0 [81.3 [84.9 [85. 1
EECOVTOME - B - Hhe 1 [26.8 [35.3 [43.5 [41.4
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[EFEA : & LTI [BFA - £ & LTHERE]

S8 - RABEHEE S - ROBIEFHEE
i 25 g THEEE (%) o =4 58S THEEE (%)
~ e | | = | TR S o ? e | Ax | x| FER 2D
HeoL - ML 4 68.4 [73.3 [78.2 | 75.4 £ & 2t 12 162.4 {68.7 [72.7 [70.4
ey (B S & 4 |80.1 [83.9 [87.0 |85.7 o | B 12 |57.6 |62.8 [67.8 [66.0
DEEF s & 6 |65.3 [72.1 [76.3 | 73.8 DEE g 8 [47.8 |53.7 |57.6 |57.4
T EEX L L EENFEICET5=E| 18 |70.2 |74.5 |77.8 | 77.2 BEHDER 4 [42.7 [53.2 |58.6 |57.6
EE~OBL - BAX - BE 0 - - - - MEADBID - BN - BE 0 - - - -
T - ECEED 4 68.4 [73.3 [78.2 [ 75.4 oy RENERAPEAS 0 - - - -
FEOBA |Z< 8N 4 |80.1 [83.9 [87.0 |85.7 BRI RS 20 [58.1 |65.0 |69.9 {68.2
HORER 6 |65.3 [72.1 [76.3 | 73.8 YEORMBLEECDNTOMSE - 2 | 16 |51.9 |57.6 |61.4 |60.2
SEICDOVTOE; - B - HEe 18 [70.2 (74.5 (77.8 | 71.2

[EfEB : £ & LTERA] [#FB : & LTEHA]

S8 - RABIEHEE S - ROBIEFEE
o 4 *Ig%zﬁ ‘w‘“i’ﬂIEga*éﬁ%) o N i%%la $i'=JIE§$£%)
e ? ) | A | B |G| 28 o ? ) | A | B | GRS | A5
HeoL ML 3 |65.7 |70.0 [73.9 [72.4 et 3 (38.7 [42.7 |48.2 |46.3
smenmey (B S & 4 |52.2 |56.9 [62.7 [60.8 smmmeg | B 6 [39.9 (43.9 |49.6 |47.1
DEEF e & 4 |63.8 [68.4 [73.0 [72.1 DEE g 3 [41.0 [48.3 |53.2 |50.8
ML EEEEEEOEEICEYSEE| 1 [31.8 [35.3 |43.5 |41.4 BEROER 3 |45.1 (46.8 |49.7 [49.1
EE~OEL - B - BE 3 |46.9 |51.7 |57.4 [55.9 MEADBID - BN - BE 0 - - -
ST - B<EED 3 |65.7 [70.0 [73.9 [72.4 oy RENERAPEAS 10 |30.8 [34.2 [38.8 [36.8
FEOBS |Z< BN 4 |52.2 |56.9 [62.7 [60.8 BRI FRAE 3 (49.1 |57.4 |64.4 |61.2
RS 4 163.8 [68.4 [73.0 [72.1 HEORBLECOLNTOME - 22 | 2 [79.2 [81.3 [84.9 [85.1
EECOVNTOME - IR - e 1 [81.8 [35.3 [43.5 |41.4
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[EFEA : & LTI [BFA - £ & LTHERE]

S8 - RABEHEE S - ROBIEFHEE
i 25 g FHEEE (%) o =4 xs FHEEE (%)
~ e | | = | TR S o ? e | Ax | x| FER 2D
HeoL - ML 4 |74.7 [73.3 [78.2 | 75.4 £ & 2t 12 168.6 |68.7 [72.7 |70.4
ey (B S & 4 |84.2 |83.9 [87.0 | 85.7 o | B 12 166.8 |62.8 [67.8 {66.0
DEEF s & 6 |78.5 |72.1 [76.3 | 73.8 DEE g 8 [56.7 |53.7 |57.6 |57.4
EMMLEEXL L BEOREICET 5%E| 18 |76.6 | 74.5 |11.8 | 77.2 BEHOER 4 |53.8 [53.2 |58.6 |57.6
EE~OBL - BAX - BE 0 - - - - MEADBID - BN - BE 0 - - - -
T - ECEED 4 |74.7 [73.3 [78.2 | 75.4 oy [BEOBAACELS 0 - - - -
FEOBA |Z< 8N 4 |84.2 |83.9 [87.0 | 85.7 BRI RS 20 [66.0 |65.0 |69.9 |68.2
BOREN 6 |78.5 [72.1 [76.3 | 73.8 YE ORI LSO TOME - B8 | 16 [60.9 |57.6 [61.4 |60.2
SEICDOVTOE; - B - HEe 18 [76.6 (74.5 (77.8 | 71.2

[EfEB : £ & LTERA] [#FB : & LTEHA]

S8 - RABIEHEE S - ROBIEFEE
o 4 *Ig%zﬁ ‘w‘“i’ﬂIEga*éﬁ%) o N i%%la $i'=JIE§$£%)
e ? ) | A | B |G| 28 o ? ) | A | B | GRS | A5
HeoL ML 3 |70.8 [70.0 [73.9 [72.4 et 3 [40.6 [42.7 |48.2 |46.3
smenmey (B S & 4 |54.1 |56.9 [62.7 [60.8 smmmeg | B 6 [49.3 (43.9 |49.6 |47.1
DEEF e & 4 |67.5 (68.4 [73.0 [72.1 DEE g 3 (47.9 |48.3 |53.2 |50.8
EHMLEEEEEEOHEICEYSEE| 1 [27.4 [35.3 |43.5 |41.4 BEROER 3 146.6 (46.8 |49.7 (49.1
EE~OEL - B - BE 3 |48.9 |51.7 |57.4 [55.9 MEADBID - BN - BE 0 - - - -
ST - B<EED 3 |70.8 {70.0 [73.9 [72.4 oy RENERAPEAS 10 |36.7 |34.2 [38.8 [36.8
FEOBS |Z< BN 4 |54.1 |56.9 [62.7 [60.8 BRI FRAE 3 [56.6 |57.4 |64.4 |61.2
RS 4 |67.5 (68.4 [73.0 [72.1 HEORBLECOLNTOM®E - 22 | 2 [82.2 [81.3 [84.9 [85.1
EECOVNTOME - IR - e 1 127.4 [35.3 [43.5 |41.4
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[EFEA : & LTI [BFA - £ & LTHERE]

S8 - RABEHEE S - ROBIEFHEE
i 25 g THEEE (%) o =4 58S THEEE (%)

~ e | | = | TR S o ? e | Ax | x| FER 2D

HeoL - ML 4 |78.8 [73.3 [78.2 | 75.4 £ & 2t 12 |71.1 68.7 |72.7 [70.4

ey (B S & 4 |87.0 [83.9 [87.0 |85.7 o | B 12 169.1 {62.8 [67.8 [66.0

DEEF s & 6 |77.1 [72.1 [76.3 | 73.8 DEE g 8 [59.7 |53.7 |57.6 |57.4

T EEX L L EEDFEICET5=E| 18 |79.5 |74.5 |77.8 | 77.2 BEHDER 4 [55.4 (53.2 |58.6 |57.6

EE~OBL - BAX - BE 0 - - - - MEADBID - BN - BE 0 - - - -

T - ECEED 4 |78.8 [73.3 [78.2 | 75.4 oy RENERAPEAS 0 - - - -

FEOBA |Z< 8N 4 |87.0 [83.9 [87.0 |85.7 BRI RS 20 [68.5 |65.0 |69.9 |68.2

HORER 6 |77.1 [72.1 [76.3 | 73.8 YEORMBLEECDNTOMSE - 2R | 16 |63.2 |57.6 |61.4 |60.2
SEICDOVTOE; - B - HEe 18 [79.5 (74.5 (77.8 | 71.2

[EfEB : £ & LTERA] [#FB : & LTEHA]

S8 - RABIEHEE S - ROBIEFEE
o 4 *Ig%zﬁ ‘w‘“i’ﬂIEga*éﬁ%) o N i%%la $i'=JIE§$£%)
e ? ) | A | B |G| 28 o ? ) | A | B | GRS | A5
HeoL ML 3 |76.4 [70.0 [73.9 [72.4 et 3 (48.2 |42.7 |48.2 |46.3
smenmey (B S & 4 |63.1 |56.9 [62.7 [60.8 smmmeg | B 6 [49.3 (43.9 |49.6 |47.1
DEEF e & 4 |74.4 168.4 [73.0 [72.1 DEE g 3 [51.0 (48.3 |53.2 |50.8
EHMLEEEEEEOREICETSEE| 1 [46.8 [35.3 |43.5 |41.4 BEROER 3 146.1 (46.8 |49.7 [49.1
EE~OEL - B - BE 3 |59.5 |{51.7 |57.4 [55.9 MEADBID - BN - BE 0 - - - -
ST - B<EED 3 |76.4 [70.0 [73.9 [72.4 oy RENERAPEAS 10 |37.8 [34.2 [38.8 [36.8
FEOBS |Z< BN 4 |63.1 |56.9 [62.7 [60.8 BRI FRAE 3 [63.1 |57.4 |64.4 |61.2
RS 4 |74.4 168.4 [73.0 [72.1 HEORBLECOLNTOM®E - 22 | 2 [82.2 [81.3 [84.9 [85.1
EECOVNTOME - IR - e 1 [46.8 [35.3 [43.5 |41.4
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RE AR ERER RIIRIFHPFR

[EFEA : & LTI [BFA - £ & LTHERE]

S8 - RABEHEE S - ROBIEFHEE
i 25 g FHEEE (%) o =4 xs FHEEE (%)
~ e | | = | TR S o ? e | Ax | x| FER 2D
HeoL - ML 4 |79.0 [73.3 [78.2 | 75.4 £ & 2t 12 173.9 |68.7 [72.7 |70.4
ey (B S & 4 189.5 (83.9 [87.0 | 85.7 o | B 12 |72.6 |62.8 [67.8 {66.0
DEEF s & 6 |76.9 [72.1 [76.3 | 73.8 DEE g 8 [62.5 |53.7 |57.6 |57.4
EMMLEEL L BEORE AT 5%E| 18 |73.8 |74.5 [77.8 | 77.2 BEHOER 4 160.5 [53.2 |58.6 |57.6
EE~OBL - BAX - BE 0 - - - - MEADBID - BN - BE 0 - - - -
T - ECEED 4 |79.0 [73.3 [78.2 | 75.4 oy [BEOBAACELS 0 - - - -
FEOBA |Z< 8N 4 189.5 (83.9 [87.0 | 85.7 BRI RS 20 [73.1 |65.0 |69.9 {68.2
BOREN 6 |76.9 [72.1 [76.3 | 73.8 YEORML LSO TOME - B8 | 16 [64.9 |57.6 [61.4 |60.2
SEICDOVTOE; - B - HEe 18 [73.8 (74.5 (771.8 | 71.2

[EfEB : £ & LTERA] [#FB : & LTEHA]

S8 - RABIEHEE S - ROBIEFEE
o 4 *Ig%zﬁ ‘w‘“i’ﬂIEga*éﬁ%) o N i%%la $i'=JIE§$£%)
e ? ) | A | B |G| 28 o ? ) | A | B | GRS | A5
HeoL ML 3 184.9 [70.0 [73.9 [72.4 et 3 [46.2 |42.7 |48.2 |46.3
smenmey (B S & 4 |63.7 |56.9 [62.7 [60.8 smmmeg | B 6 [52.2 (43.9 |49.6 |47.1
DEEF e & 4 |71.0 [68.4 [73.0 [72.1 DEE g 3 (48.4 |48.3 |53.2 |50.8
EHMLEEEEEEOREICETSEE| 1 [41.9 [35.3 |43.5 |41.4 BEROER 3 146.2 (46.8 |49.7 (49.1
EE~OEL - B - BE 3 |59.1 [51.7 |57.4 [55.9 MEADBID - BN - BE 0 - - -
ST - B<EED 3 |84.9 [70.0 [73.9 [72.4 oy RENERAPEAS 10 |37.7 |34.2 [38.8 [36.8
FEOBS |Z< BN 4 |63.7 |56.9 [62.7 [60.8 BRI FRAE 3 [64.5 |57.4 |64.4 |61.2
RS 4 |71.0 [68.4 [73.0 [72.1 YEORBLECOLTOME - 22 | 2 [82.3 [81.3 [84.9 [85.1
EECOVNTOME - IR - e 1 [41.9 [35.3 [43.5 |41.4
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RE AR ERER JBAL R ILTEM PR

[EFEA : & LTI [BFA - £ & LTHERE]

S8 - RABEHEE S - ROBIEFHEE
i 25 g THEEE (%) o =4 58S THEEE (%)

~ e | | = | TR S o ? e | Ax | x| FER 2D

HeoL - ML 4 |73.4 [73.3 [78.2 | 75.4 £ & 2t 12 |64.8 [68.7 [72.7 [70.4

ey (B S & 4 |83.6 [83.9 [87.0 |85.7 o | B 12 |65.4 [62.8 [67.8 [66.0

DEEF s & 6 |67.7 [72.1 [76.3 | 73.8 DEE g 8 [56.3 |53.7 |57.6 |57.4

T EEX L L EENFEICET5=E| 18 |69.4 |74.5 |77.8 | 77.2 BEHDER 4 [49.2 (53.2 |58.6 |57.6

EE~OBL - BAX - BE 0 - - - - MEADBID - BN - BE 0 - - - -

T - ECEED 4 |73.4 [73.3 [78.2 | 75.4 oy RENERAPEAS 0 - - - -

FEOBA |Z< 8N 4 |83.6 [83.9 [87.0 |85.7 BRI RS 20 [62.2 |65.0 |69.9 {68.2

HORER 6 |67.7 [72.1 [76.3 | 73.8 YEORMBLEE DN TOMSE - 22 | 16 |60.4 |57.6 |61.4 |60.2
SEICDOVTOE; - B - HEe 18 169.4 (74.5 (77.8 | 71.2

[EfEB : £ & LTERA] [#FB : & LTEHA]

S8 - RABIEHEE S - ROBIEFEE
o 4 *Ig%zﬁ ‘w‘“i’ﬂIEga*éﬁ%) o N i%%la $i'=JIE§$£%)
e ? ) | A | B |G| 28 o ? ) | A | B | GRS | A5
HeoL ML 3 |65.6 [70.0 [73.9 [72.4 et 3 [38.5 [42.7 |48.2 |46.3
smenmey (B S & 4 |54.7 |56.9 [62.7 [60.8 smmmeg | B 6 [39.1 (43.9 |49.6 |47.1
DEEF e & 4 |61.7 |68.4 [73.0 [72.1 DEE g 3 [52.1 [48.3 |53.2 |50.8
ML EEEEEENEEICEYSEE| 1 [37.5 [35.3 [43.5 |41.4 BEROER 3 146.9 (46.8 |49.7 [49.1
EE~OEL - B - BE 3 |46.9 |51.7 |57.4 [55.9 MEADBID - BN - BE 0 - - -
ST - B<EED 3 |65.6 |70.0 [73.9 [72.4 oy RENERAPEAS 10 |32.8 [34.2 [38.8 [36.8
FEOBS |Z< BN 4 |54.7 |56.9 [62.7 [60.8 BRI FRAE 3 [50.0 [57.4 |64.4 |61.2
RS 4 |61.7 [68.4 [73.0 [72.1 YEORBLECOLNTOM®E - 22 | 2 [84.4 [81.3 [84.9 [85.1
EECOVNTOME - IR - e 1 [87.5 [35.3 [43.5 |41.4
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RE AR ERER JBAL R IR PR

[EFEA : & LTI [BFA - £ & LTHERE]

S8 - RABEHEE S - ROBIEFHEE
i 25 g FHEEE (%) o =4 xs FHEEE (%)
~ e | | = | TR S o ? e | Ax | x| FER 2D
HeoL - ML 4 |77.3 [73.3 [78.2 | 75.4 £ & 2t 12 [67.3 |68.7 [72.7 |70.4
ey (B S & 4 |85.6 (83.9 [87.0 |85.7 o | B 12 |57.3 |62.8 [67.8 {66.0
DEEF s & 6 |73.4 |72.1 [76.3 | 73.8 DEE g 8 [52.6 |53.7 |57.6 |57.4
EMMLEEL L BEORE AT 5%E| 18 | 74.6 |74.5 [77.8 | 77.2 BEHOER 4 |51.8 [53.2 |58.6 |57.6
EE~OBL - BAX - BE 0 - - - - MEADBID - BN - BE 0 - - - -
T - ECEED 4 |77.3 [73.3 [78.2 [ 75.4 oy [BEOBAACELS 0 - - - -
FEOBA |Z< 8N 4 |85.6 |83.9 [87.0 | 85.7 BRI RS 20 [62.9 |65.0 |69.9 {68.2
BOREN 6 |73.4 [72.1 [76.3 | 73.8 YE ORI LSO TOME - B8 | 16 [54.1 |57.6 [61.4 |60.2
SEICDOVTOE; - B - HEe 18 [74.6 |74.5 (77.8 | 71.2

[EfEB : £ & LTERA] [#FB : & LTEHA]

S8 - RABIEHEE S - ROBIEFEE
o 4 *Ig%zﬁ ‘w‘“i’ﬂIEga*éﬁ%) o N i%%la $i'=JIE§$£%)
e ? ) | A | B |G| 28 o ? ) | A | B | GRS | A5
HeoL ML 3 |71.0 {70.0 [73.9 [72.4 et 3 [41.3 [42.7 |48.2 |46.3
smenmey (B S & 4 160.9 |56.9 [62.7 [60.8 smmmeg | B 6 [41.2 (43.9 |49.6 |47.1
DEEF e & 4 |70.5 [68.4 [73.0 [72.1 DEE g 3 [50.3 [48.3 |53.2 |50.8
EHMLEEEEEEOHEICETSEE| 1 (42.9 [35.3 [43.5 |41.4 BEROER 3 146.2 (46.8 |49.7 (49.1
EE~OEL - B - BE 3 |56.5 |51.7 |57.4 [55.9 MEADBID - BN - BE 0 - - -
ST - B<EED 3 |71.0 {70.0 [73.9 [72.4 oy RENERAPEAS 10 |34.4 [34.2 [38.8 [36.8
FEOBS |Z< BN 4 |60.9 |56.9 [62.7 [60.8 BRI FRAE 3 [52.6 |57.4 |64.4 |61.2
RS 4 |70.5 68.4 [73.0 [72.1 HEORBLECOLNTOM®E - 22 | 2 [79.4 [81.3 [84.9 [85.1
EECOVNTOME - IR - e 1 142.9 [35.3 [43.5 |41.4
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[EFEA : & LTI [BFA - £ & LTHERE]

S8 - RABEHEE S - ROBIEFHEE
i 25 g THEEE (%) o =4 58S THEEE (%)
~ e | | = | TR S o ? e | Ax | x| FER 2D
HeoL - ML 4 |73.8 [73.3 [78.2 | 75.4 £ & 2t 12 162.9 [68.7 [72.7 [70.4
ey (B S & 4 |84.6 [83.9 [87.0 |85.7 o | B 12 |58.9 [62.8 [67.8 [66.0
DEEF s & 6 |73.0 [72.1 [76.3 | 73.8 DEE g 8 (48.1 |53.7 |57.6 |57.4
T EEX L L EEDFEICET5=E| 18 |76.1 |74.5 |77.8 | 77.2 BEHDER 4 |(44.4 (53.2 |58.6 |57.6
EE~OBL - BAX - BE 0 - - - - MEADBID - BN - BE 0 - - - -
T - ECEED 4 |73.8 [73.3 [78.2 [ 75.4 oy RENERAPEAS 0 - - - -
FEOBA |Z< 8N 4 |84.6 [83.9 [87.0 |85.7 BRI RS 20 [58.8 |65.0 |69.9 {68.2
HORER 6 |73.0 [72.1 [76.3 | 73.8 YEORMBLE LD TOMSE - 2 | 16 |53.0 |57.6 |61.4 |60.2
SEICDOVTOE; - B - HEe 18 [76.1 (74.5 (77.8 | 71.2

[EfEB : £ & LTERA] [#FB : & LTEHA]

S8 - RABIEHEE S - ROBIEFEE
o 4 *Ig%zﬁ ‘w‘“i’ﬂIEga*éﬁ%) o N i%%la $i'=JIE§$£%)
e ? ) | A | B |G| 28 o ? ) | A | B | GRS | A5
HeoL ML 3 |68.6 |70.0 [73.9 [72.4 et 3 [(39.2 (42.7 |48.2 |46.3
smenmey (B S & 4 |52.1 |56.9 [62.7 [60.8 smmmeg | B 6 [38.3 (43.9 |49.6 |47.1
DEEF e & 4 |67.7 |68.4 [73.0 [72.1 DEE g 3 [42.0 (48.3 |53.2 |50.8
EHMLEEEEEEOHEICEYSEE| 1 [25.9 (35.3 [43.5 |41.4 BEROER 3 145.6 (46.8 |49.7 [49.1
EE~OEL - B - BE 3 |46.1 |51.7 |57.4 [55.9 MEADBID - BN - BE 0 - - -
ST - B<EED 3 |68.6 |70.0 [73.9 [72.4 oy RENERAPEAS 10 [30.3 [34.2 [38.8 [36.8
FEOBS |Z< BN 4 |52.1 |56.9 [62.7 [60.8 BRI FRAE 3 (49.7 |57.4 |64.4 |61.2
RS 4 |67.7 |68.4 [73.0 [72.1 HEORBLECOLTOM®E - 22 | 2 [79.0 [81.3 [84.9 [85.1
EECOVNTOME - IR - e 1 125.9 [35.3 [43.5 |41.4
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[EFEA : & LTI [BFA - £ & LTHERE]

S8 - RABEHEE S - ROBIEFHEE
i 25 g FHEEE (%) o =4 xs FHEEE (%)
~ e | | = | TR S o ? e | Ax | x| FER 2D
HeoL - ML 4 |72.5 [73.3 [78.2 | 75.4 £ & 2t 12 160.0 |68.7 [72.7 |70.4
ey (B S & 4 |81.7 |83.9 [87.0 | 85.7 o | B 12 |58.1 |62.8 [67.8 {66.0
DEEF s & 6 |67.2 [72.1 [76.3 | 73.8 DEE g 8 [43.3 |53.7 |57.6 |57.4
EMMLEEL L BEORE AT 5%5E| 18 |65.6 | /4.5 |17.8 | 77.2 BEHOER 4 |48.3 [53.2 |58.6 |57.6
EE~OBL - BAX - BE 0 - - - - MEADBID - BN - BE 0 - - - -
T - ECEED 4 |72.5 [73.3 [78.2 [ 75.4 oy [BEOBAACELS 0 - - - -
FEOBA |Z< 8N 4 |81.7 |83.9 [87.0 | 85.7 BRI RS 20 [55.7 |65.0 |69.9 {68.2
BOREN 6 |67.2 [72.1 [76.3 | 73.8 YE ORI EISDNTOME - B8 | 16 |52.7 |57.6 |61.4 |60.2
SEICDOVTOE; - B - HEe 18 [65.6 (74.5 (77.8 | 71.2

[EfEB : £ & LTERA] [#FB : & LTEHA]

S8 - RABIEHEE S - ROBIEFEE
o 4 *Ig%zﬁ ‘w‘“i’ﬂIEga*éﬁ%) o N i%%la $i'=JIE§$£%)
e ? ) | A | B |G| 28 o ? ) | A | B | GRS | A5
HeoL ML 3 162.2 [70.0 [73.9 [72.4 et 3 [43.3 [42.7 |48.2 |46.3
smenmey (B S & 4 |52.5 |56.9 [62.7 [60.8 smmmeg | B 6 [33.9 (43.9 |49.6 |47.1
DEEF e & 4 |59.2 [68.4 [73.0 [72.1 DEE g 3 [36.7 [48.3 |53.2 |50.8
EHMLEEEEEEOHEICEYSEE| 1 [30.0 [35.3 |43.5 |41.4 BEROER 3 136.7 |46.8 |49.7 (49.1
EE~OEL - B - BE 3 |47.8 |51.7 |57.4 [55.9 MEADBID - BN - BE 0 - - - -
ST - B<EED 3 162.2 [70.0 [73.9 [72.4 oy RENERAPEAS 10 |26.7 |34.2 [38.8 [36.8
FEOBS |Z< BN 4 |52.5 |56.9 [62.7 [60.8 BRI FRAE 3 (48.9 |57.4 |64.4 |61.2
RS 4 |59.2 [68.4 [73.0 [72.1 YEORBLECOLTOM®E - 22 | 2 [70.0 [81.3 [84.9 [85.1
EECOVNTOME - IR - e 1 130.0 [35.3 [43.5 |41.4
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[EFEA : & LTI [BFA - £ & LTHERE]

S8 - RABEHEE S - ROBIEFHEE
i 25 g FHEEE (%) o =4 xs FHEEE (%)
~ e | | = | TR S o ? e | Ax | x| FER 2D
HeoL - ML 4 |75.0 [73.3 [78.2 | 75.4 £ & 2t 12 [71.6 |68.7 [72.7 |70.4
ey (B S & 4 82.0 (83.9 [87.0 | 85.7 o | B 12 162.8 |62.8 [67.8 {66.0
DEEF s & 6 |75.3 [72.1 [76.3 | 73.8 DEE g 8 [55.2 |53.7 |57.6 |57.4
EMMLEEL L BEORE AT 5%E| 18 | 74.6 |74.5 [77.8 | 77.2 BEHOER 4 |64.7 [53.2 |58.6 |57.6
EE~OBL - BAX - BE 0 - - - - MEADBID - BN - BE 0 - - - -
T - ECEED 4 |75.0 [73.3 [78.2 [ 75.4 oy [BEOBAACELS 0 - - - -
FEOBA |Z< 8N 4 182.0 |83.9 [87.0 | 85.7 BRI RS 20 [69.0 |65.0 |69.9 {68.2
BOREN 6 |75.3 [72.1 [76.3 | 73.8 YE ORI EISDLTOME - B8 | 16 |58.3 |57.6 [61.4 |60.2
SEICDOVTOE; - B - HEe 18 [74.6 |74.5 (77.8 | 71.2

[EfEB : £ & LTERA] [#FB : & LTEHA]

S8 - RABIEHEE S - ROBIEFEE
o 4 *Ig%zﬁ ‘w‘“i’ﬂIEga*éﬁ%) o N i%%la $i'=JIE§$£%)
e ? ) | A | B |G| 28 o ? ) | A | B | GRS | A5
HeoL ML 3 |68.4 [70.0 [73.9 [72.4 et 3 (44.4 [42.7 |48.2 |46.3
smenmey (B S & 4 |56.7 |56.9 [62.7 [60.8 smmmeg | B 6 [46.0 (43.9 |49.6 |47.1
DEEF e & 4 |67.3 [68.4 [73.0 [72.1 DEE g 3 [(45.3 |48.3 |53.2 |50.8
EHMLEEEEEEOEEICEYSEE| 1 [30.7 [35.3 [43.5 |41.4 BEROER 3 146.2 (46.8 |49.7 (49.1
EE~OEL - B - BE 3 |51.1 {51.7 |57.4 [55.9 MEADBID - BN - BE 0 - - - -
ST - B<EED 3 168.4 [70.0 [73.9 [72.4 oy RENERAPEAS 10 |35.9 [34.2 [38.8 [36.8
FEOBS |Z< BN 4 |56.7 |56.9 [62.7 [60.8 BRI FRAE 3 [56.9 [57.4 |64.4 |61.2
RS 4 |67.3 [68.4 [73.0 [72.1 YEORBLECOLTOM®E - 22 | 2 [77.3 [81.3 [84.9 [85.1
EECOVNTOME - IR - e 1 180.7 [35.3 [43.5 |41.4
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RE AR ERER JEAL R ILRERPER

[EFEA : & LTI [BFA - £ & LTHERE]

S8 - RABEHEE S - ROBIEFHEE
i 25 g THEEE (%) o =4 58S THEEE (%)

~ e | | = | TR S o ? e | Ax | x| FER 2D

HeoL - ML 4 169.7 [73.3 [78.2 | 75.4 £ & 2t 12 |63.0 [68.7 [72.7 [70.4

ey (B S & 4 |84.6 [83.9 [87.0 |85.7 o | B 12 |63.8 [62.8 [67.8 [66.0

DEEF s & 6 |69.9 [72.1 [76.3 | 73.8 DEE g 8 (48.5 |53.7 |57.6 |57.4

T EEX L L EEDFEICET5=E| 18 |73.7 |74.5 |77.8 | 77.2 BEHDER 4 [42.1 [53.2 |58.6 |57.6

EE~OBL - BAX - BE 0 - - - - MEADBID - BN - BE 0 - - - -

T - ECEED 4 169.7 [73.3 [78.2 | 75.4 oy RENERAPEAS 0 - - - -

FEOBA |Z< 8N 4 |84.6 [83.9 [87.0 |85.7 BRI RS 20 [60.4 |65.0 |69.9 {68.2

HORER 6 [69.9 [72.1 [76.3 | 73.8 YEORMBLEECDNTOMSE - 2 | 16 |54.4 |57.6 |61.4 |60.2
SEICDOVTOE; - B - HEe 18 [73.7 |74.5 (771.8 | 71.2

[EfEB : £ & LTERA] [#FB : & LTEHA]

S8 - RABIEHEE S - ROBIEFEE
o 4 *Ig%zﬁ ‘w‘“i’ﬂIEga*éﬁ%) o N i%%la $i'=JIE§$£%)
e ? ) | A | B |G| 28 o ? ) | A | B | GRS | A5
HeoL ML 3 169.1 [70.0 [73.9 [72.4 et 3 [40.3 [42.7 |48.2 |46.3
smenmey (B S & 4 |54.4 |56.9 [62.7 [60.8 smmmeg | B 6 [42.3 (43.9 |49.6 |47.1
DEEF e & 4 |65.7 |68.4 [73.0 [72.1 DEE g 3 (47.9 |48.3 |53.2 |50.8
EHMLEEEEEEOHEICEYSEE| 1 [30.6 [35.3 |43.5 |41.4 BEROER 3 142.7 |46.8 |49.7 [49.1
EE~OEL - B - BE 3 |48.5 |51.7 |57.4 [55.9 MEADBID - BN - BE 0 - - -
ST - B<EED 3 169.1 (70.0 [73.9 [72.4 oy RENERAPEAS 10 |32.4 [34.2 [38.8 [36.8
FEOBS |Z< BN 4 |54.4 |56.9 [62.7 [60.8 BRI FRAE 3 (54.1 |57.4 |64.4 |61.2
RS 4 |65.7 |68.4 [73.0 [72.1 HEORBLECOLTOM®E - 22 | 2 [79.8 [81.3 [84.9 [85.1
EECOVNTOME - IR - e 1 130.6 [35.3 [43.5 |41.4

|
N
[e0)
|



REMNAERR EIRILEMIL PR

[EFEA : & LTI [BFA - £ & LTHERE]

S8 - RABEHEE S - ROBIEFHEE
i 25 g FHEEE (%) o =4 xs FHEEE (%)
~ e | | = | TR S o ? e | Ax | x| FER 2D
HeoL - ML 4 |72.5 [73.3 [78.2 | 75.4 £ & 2t 12 168.8 |68.7 [72.7 |70.4
ey (B S & 4 180.8 [83.9 [87.0 |85.7 o | B 12 [59.0 |62.8 [67.8 {66.0
DEEF s & 6 |70.0 [72.1 [76.3 | 73.8 DEE g 8 [(58.8 |53.7 |57.6 |57.4
EMMLEEL L BEORE AT 5%E| 18 |69.3 |74.5 [77.8 | 77.2 BEHOER 4 |53.8 [53.2 |58.6 |57.6
EE~OBL - BAX - BE 0 - - - - MEADBID - BN - BE 0 - - - -
T - ECEED 4 |72.5 [73.3 [78.2 [ 75.4 oy [BEOBAACELS 0 - - - -
FEOBA |Z< 8N 4 180.8 |83.9 [87.0 | 85.7 BRI RS 20 [64.9 |65.0 |69.9 |68.2
BOREN 6 |70.0 [72.1 [76.3 | 73.8 YE ORI EISDNTOME - B8 | 16 |57.5 |57.6 |61.4 |60.2
SEICDOVTOE; - B - HEe 18 169.3 (74.5 (77.8 | 71.2

[EfEB : £ & LTERA] [#FB : & LTEHA]

S8 - RABIEHEE S - ROBIEFEE
o 4 *Ig%zﬁ ‘w‘“i’ﬂIEga*éﬁ%) o N i%%la $i'=JIE§$£%)
e ? ) | A | B |G| 28 o ? ) | A | B | GRS | A5
HeoL ML 3 |71.1 [70.0 [73.9 [72.4 et 3 [41.7 |42.7 |48.2 |46.3
smenmey (B S & 4 |54.6 |56.9 [62.7 [60.8 smmmeg | B 6 [37.5 (43.9 |49.6 |47.1
DEEF e & 4 162.9 [68.4 [73.0 [72.1 DEE g 3 [(42.2 |48.3 |53.2 |50.8
EHMLEEtEEEOHEICEYSEE| 1 [31.7 [35.3 |43.5 |41.4 BEROER 3 [37.8 [46.8 |49.7 [49.1
EE~OEL - B - BE 3 |50.0 {51.7 |57.4 [55.9 MEADBID - BN - BE 0 - - - -
ST - B<EED 3 |71.1 [70.0 [73.9 [72.4 oy RENERAPEAS 10 |27.8 [34.2 [38.8 [36.8
FEOBS |Z< BN 4 |54.6 |56.9 [62.7 [60.8 BRI FRAE 3 [51.7 |57.4 |64.4 |61.2
RS 4 162.9 [68.4 [73.0 [72.1 YEORBLECOLTOM®E - 22 | 2 [78.3 [81.3 [84.9 [85.1
EECOVNTOME - IR - e 1 [81.7 [35.3 [43.5 |41.4

|
N
©
|



RE AR ERER AL AP PR

[EFEA : & LTI [BFA - £ & LTHERE]

S8 - RABEHEE S - ROBIEFHEE
i 25 g FHEEE (%) o =4 xs FHEEE (%)
~ e | | = | TR S o ? e | Ax | x| FER 2D
HeoL - ML 4 |72.0 [73.3 [78.2 | 75.4 £ & 2t 12 [71.5 |68.7 [72.7 |70.4
ey (B S & 4 |86.4 (83.9 [87.0 | 85.7 o | B 12 |64.3 |62.8 [67.8 {66.0
DEEF s & 6 |73.9 [72.1 [76.3 | 73.8 DEE g 8 [57.6 |53.7 |57.6 |57.4
EMMLEEL L BEORE AT 5%E| 18 |76.3 |74.5 |77.8 | 77.2 BEHOER 4 |56.0 [53.2 |58.6 |57.6
EE~OBL - BAX - BE 0 - - - - MEADBID - BN - BE 0 - - - -
T - ECEED 4 |72.0 [73.3 [78.2 | 75.4 oy [BEOBAACELS 0 - - - -
FEOBA |Z< 8N 4 |86.4 |83.9 [87.0 | 85.7 BRI RS 20 [68.0 |65.0 |69.9 |68.2
BOREN 6 |73.9 [72.1 [76.3 | 73.8 YE ORI EISDLTOME - B8 | 16 [59.6 |57.6 [61.4 |60.2
SEICDOVTOE; - B - HEe 18 [76.3 (74.5 (77.8 | 71.2

[EfEB : £ & LTERA] [#FB : & LTEHA]

S8 - RABIEHEE S - ROBIEFEE
o 4 *Ig%zﬁ ‘w‘“i’ﬂIEga*éﬁ%) o N i%%la $i'=JIE§$£%)
e ? ) | A | B |G| 28 o ? ) | A | B | GRS | A5
HeoL ML 3 |70.9 [70.0 [73.9 [72.4 et 3 [42.6 (42.7 |48.2 |46.3
smenmey (B S & 4 160.0 |56.9 [62.7 [60.8 smmmeg | B 6 [47.3 (43.9 |49.6 |47.1
DEEF e & 4 |72.8 [68.4 [73.0 [72.1 DEE g 3 [50.8 (48.3 |53.2 |50.8
EHMLEEEEEEOREICETSEE| 1 [46.8 [35.3 |43.5 |41.4 BEROER 3 152.5 |46.8 |49.7 [49.1
EE~OEL - B - BE 3 |55.1 [51.7 |57.4 [55.9 MEADBID - BN - BE 0 - - - -
ST - B<EED 3 170.9 [70.0 [73.9 [72.4 oy RENERAPEAS 10 |37.0 [34.2 [38.8 [36.8
FEOBS |Z< BN 4 |60.0 |56.9 [62.7 [60.8 BRI FRAE 3 [59.5 [57.4 |64.4 |61.2
RS 4 |72.8 [68.4 [73.0 [72.1 HEORBLECOLNTOM®E - 22 | 2 [86.7 |81.3 [84.9 [85.1
EECOVNTOME - IR - e 1 [46.8 [35.3 [43.5 |41.4
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RE AR ERER RILRXITERPFER

[EFEA : & LTI [BFA - £ & LTHERE]

S8 - RABEHEE S - ROBIEFHEE
i 25 g FHEEE (%) o =4 xs FHEEE (%)
~ e | | = | TR S o ? e | Ax | x| FER 2D
HeoL - ML 4 |58.2 [73.3 [78.2 | 75.4 £ & 2t 12 166.7 |68.7 [72.7 |70.4
ey (B S & 4 |73.1 |83.9 [87.0 | 85.7 o | B 12 162.1 |62.8 [67.8 {66.0
DEEF s & 6 |62.2 [72.1 [76.3 | 73.8 DEE g 8 [53.2 |53.7 |57.6 |57.4
EMMLEEL L BEOREICET5%E| 18 |66.0 | 74.5 |77.8 | 77.2 BEHOER 4 |47.4 |53.2 |58.6 |57.6
EE~OBL - BAX - BE 0 - - - - MEADBID - BN - BE 0 - - - -
T - ECEED 4 |58.2 [73.3 [78.2 [ 75.4 oy [BEOBAACELS 0 - - - -
FEOBA |Z< 8N 4 |73.1 |83.9 [87.0 | 85.7 BRI RS 20 [62.8 |65.0 |69.9 {68.2
BOREN 6 [62.2 [72.1 [76.3 | 73.8 YE ORI LSO TOME - B8 | 16 [56.4 |57.6 [61.4 |60.2
SEICDOVTOE; - B - HEe 18 166.0 (74.5 (77.8 | 717.2

[EfEB : £ & LTERA] [#FB : & LTEHA]

S8 - RABIEHEE S - ROBIEFEE
o 4 *Ig%zﬁ ‘w‘“i’ﬂIEga*éﬁ%) o N i%%la $i'=JIE§$£%)
e ? ) | A | B |G| 28 o ? ) | A | B | GRS | A5
HeoL ML 3 |59.2 [70.0 [73.9 [72.4 et 3 (34.8 [42.7 |48.2 |46.3
smenmey (B S & 4 |46.3 |56.9 [62.7 [60.8 smmmeg | B 6 [40.8 [43.9 |49.6 |47.1
DEEF e & 4 |57.5 (68.4 [73.0 [72.1 DEE g 3 [(42.3 |48.3 |53.2 |50.8
EHMLEEEEEEOREICEYSEE| 1 [23.9 (35.3 [43.5 |41.4 BEROER 3 146.8 (46.8 |49.7 [49.1
EE~OEL - B - BE 3 |38.8 |51.7 |57.4 [55.9 MEADBID - BN - BE 0 - - - -
ST - B<EED 3 159.2 [70.0 [73.9 [72.4 oy RENERAPEAS 10 |30.6 |34.2 [38.8 [36.8
FEOBS |Z< BN 4 |46.3 |56.9 [62.7 [60.8 BRI FRAE 3 [53.7 |57.4 |64.4 |61.2
RS 4 |57.5 (68.4 [73.0 [72.1 HEORBLECOLNTOM®E - 22 | 2 |74.6 |81.3 [84.9 [85.1
EECOVNTOME - IR - e 1 123.9 [35.3 [43.5 |41.4
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RE AR ERER RIRIIREEPFR

[EFEA : & LTI [BFA - £ & LTHERE]

S8 - RABEHEE S - ROBIEFHEE
i 25 g FHEEE (%) o =4 xs FHEEE (%)
~ e | | = | TR S o ? e | Ax | x| FER 2D
HeoL - ML 4 |72.8 [73.3 178.2 | 75.4 £ & 2t 12 165.0 |68.7 [72.7 |70.4
ey (B S & 4 |82.4 (83.9 [87.0 | 85.7 o | B 12 |61.6 |62.8 [67.8 {66.0
DEEF s & 6 |69.9 [72.1 [76.3 | 73.8 DEE g 8 [51.4 |53.7 |57.6 |57.4
EMMLEEXL L BEORE AT 5%E| 18 |74.2 |74.5 [77.8 | 77.2 BEHOER 4 |52.6 (53.2 |58.6 |57.6
EE~OBL - BAX - BE 0 - - - - MEADBID - BN - BE 0 - - - -
T - ECEED 4 |72.8 [73.3 [78.2 [ 75.4 oy [BEOBAACELS 0 - - - -
FEOBA |Z< 8N 4 182.4 |83.9 [87.0 | 85.7 BRI RS 20 [60.7 |65.0 |69.9 {68.2
BOREN 6 [69.9 [72.1 [76.3 | 73.8 YE ORI LSO TOME - B8 | 16 |57.9 |57.6 [61.4 |60.2
SEICDOVTOE; - B - HEe 18 [74.2 |74.5 (77.8 | 71.2

[EfEB : £ & LTERA] [#FB : & LTEHA]

S8 - RABIEHEE S - ROBIEFEE
o 4 *Ig%zﬁ ‘w‘“i’ﬂIEga*éﬁ%) o N i%%la $i'=JIE§$£%)
e ? ) | A | B |G| 28 o ? ) | A | B | GRS | A5
HeoL ML 3 |67.1 [70.0 [73.9 [72.4 et 3 [39.3 [42.7 |48.2 |46.3
smenmey (B S & 4 |55.4 |56.9 [62.7 [60.8 smmmeg | B 6 [41.2 (43.9 |49.6 |47.1
DEEF e & 4 |65.1 (68.4 [73.0 [72.1 DEE g 3 [46.2 |48.3 |53.2 |50.8
EHMLEEEEEEOHEICEYSEE| 1 [33.3 [35.3 |43.5 |41.4 BEROER 3 149.6 (46.8 |49.7 [49.1
EE~OEL - B - BE 3 |48.3 |51.7 |57.4 [55.9 MEADBID - BN - BE 0 - - -
ST - B<EED 3 |67.1(70.0 [73.9 [72.4 oy RENERAPEAS 10 |32.4 [34.2 [38.8 [36.8
FEOBS |Z< BN 4 |55.4 |56.9 [62.7 [60.8 BRI FRAE 3 (54.3 |57.4 |64.4 |61.2
RS 4 |65.1 (68.4 [73.0 [72.1 YEORBLECOLTOM®E - 22 | 2 [82.7 [81.3 [84.9 [85.1
EECOVNTOME - IR - e 1 133.3 [35.3 [43.5 |41.4
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RE AR ERER RILRXILFPER

[EFEA : & LTI [BFA - £ & LTHERE]

S8 - RABEHEE S - ROBIEFHEE
i 25 g FHEEE (%) o =4 xs FHEEE (%)
~ e | | = | TR S o ? e | Ax | x| FER 2D
HeoL - ML 4 |71.7 [73.3 [78.2 | 75.4 £ & 2t 12 166.9 |68.7 [72.7 |70.4
ey (B S & 4 |79.4 |83.9 [87.0 | 85.7 o | B 12 |58.3 |62.8 [67.8 {66.0
DEEF s & 6 |69.4 [72.1 [76.3 | 73.8 DEE g 8 [53.9 |53.7 |57.6 |57.4
EMMLEEL L BEORE AT 5%E| 18 |69.3 |74.5 [77.8 | 77.2 BEHOER 4 |58.6 (53.2 |58.6 |57.6
EE~OBL - BAX - BE 0 - - - - MEADBID - BN - BE 0 - - - -
T - ECEED 4 |71.7 [73.3 [78.2 | 75.4 oy [BEOBAACELS 0 - - - -
FEOBA |Z< 8N 4 79.4 |83.9 [87.0 | 85.7 BRI RS 20 [64.1 |65.0 |69.9 {68.2
BOREN 6 [69.4 [72.1 [76.3 | 73.8 YE ORI EISDNTOME - B8 | 16 |55.4 |57.6 [61.4 |60.2
SEICDOVTOE; - B - HEe 18 169.3 (74.5 (77.8 | 71.2

[EfEB : £ & LTERA] [#FB : & LTEHA]

S8 - RABIEHEE S - ROBIEFEE
o 4 *Ig%zﬁ ‘w‘“i’ﬂIEga*éﬁ%) o N i%%la $i'=JIE§$£%)
e ? ) | A | B |G| 28 o ? ) | A | B | GRS | A5
HeoL ML 3 |67.8 [70.0 [73.9 [72.4 et 3 [36.3 [42.7 |48.2 |46.3
smenmey (B S & 4 |55.0 |56.9 [62.7 [60.8 smmmeg | B 6 [41.9 (43.9 |49.6 |47.1
DEEF e & 4 169.2 [68.4 [73.0 [72.1 DEE g 3 [(47.8 |48.3 |53.2 |50.8
EHMLEEE EEEOHEICEYSEE| 1 [36.7 [35.3 |43.5 |41.4 BEROER 3 139.6 (46.8 |49.7 [49.1
EE~OEL - B - BE 3 |49.3 |51.7 |57.4 [55.9 MEADBID - BN - BE 0 - - - -
ST - B<EED 3 |67.8 [70.0 [73.9 [72.4 oy RENERAPEAS 10 |31.4 {34.2 [38.8 [36.8
FEOBS |Z< BN 4 |55.0 |56.9 [62.7 [60.8 BRI FRAE 3 [51.1 |57.4 |64.4 |61.2
RS 4 169.2 [68.4 [73.0 [72.1 YEORBLECOLTOM®E - 2R | 2 [77.2 [81.3 [84.9 [85.1
EECOVNTOME - IR - e 1 [86.7 [35.3 [43.5 |41.4
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RE AR ERER RILRXIIME PFER

[EFEA : & LTI [BFA - £ & LTHERE]

S8 - RABEHEE S - ROBIEFHEE
i 25 g FHEEE (%) o =4 xs FHEEE (%)
~ e | | = | TR S o ? e | Ax | x| FER 2D
HeoL - ML 4 |71.5 [73.3 [78.2 | 75.4 £ & 2t 12 164.0 |68.7 [72.7 |70.4
ey (B S & 4 |85.2 (83.9 [87.0 | 85.7 o | B 12 |64.6 |62.8 [67.8 {66.0
DEEF s & 6 |69.0 [72.1 [76.3 | 73.8 DEE g 8 [55.3 |53.7 |57.6 |57.4
EMMLEEXL L BEORE AT 5%E| 18 | /5.1 |74.5 [77.8 | 77.2 BEHOER 4 |58.8 [53.2 |58.6 |57.6
EE~OBL - BAX - BE 0 - - - - MEADBID - BN - BE 0 - - - -
T - ECEED 4 |71.5 [73.3 [78.2 [ 75.4 oy [BEOBAACELS 0 - - - -
FEOBA |Z< 8N 4 |85.2 |83.9 [87.0 | 85.7 BRI RS 20 [62.7 |65.0 |69.9 {68.2
BOREN 6 [69.0 [72.1 [76.3 | 73.8 YE ORI EISDNTOME - B8 | 16 [60.4 |57.6 |[61.4 |60.2
SEICDOVTOE; - B - HEe 18 [75.1 (74.5 (77.8 | 71.2

[EfEB : £ & LTERA] [#FB : & LTEHA]

S8 - RABIEHEE S - ROBIEFEE
o 4 *Ig%zﬁ ‘w‘“i’ﬂIEga*éﬁ%) o N i%%la $i'=JIE§$£%)
e ? ) | A | B |G| 28 o ? ) | A | B | GRS | A5
HeoL ML 3 |68.1 [70.0 [73.9 [72.4 et 3 (39.9 (42.7 |48.2 |46.3
smenmey (B S & 4 |59.2 |56.9 [62.7 [60.8 smmmeg | B 6 [38.0 (43.9 |49.6 |47.1
DEEF e & 4 |73.9 [68.4 [73.0 [72.1 DEE g 3 (48.4 |48.3 |53.2 |50.8
EHMLEEEEEEOREICETSEE| 1 [42.3 [35.3 |43.5 |41.4 BEROER 3 146.0 (46.8 |49.7 [49.1
EE~OEL - B - BE 3 |54.9 [51.7 |57.4 [55.9 MEADBID - BN - BE 0 - - -
ST - B<EED 3 168.1(70.0 [73.9 [72.4 oy RENERAPEAS 10 [29.2 [34.2 [38.8 [36.8
FEOBS |Z< BN 4 |59.2 |56.9 [62.7 [60.8 BRI FRAE 3 [56.3 |57.4 |64.4 |61.2
RS 4 |73.9 (68.4 [73.0 [72.1 HEORBLECOLNTOM®E - 22 | 2 [85.2 [81.3 [84.9 [85.1
EECOVNTOME - IR - e 1 [42.3 [35.3 [43.5 |41.4
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[EFEA : & LTI

S8 - ERRISEHER

[BFA - £ & LTHERE]

S8 - RS ER

N X4 ;QI;%EE EFi’ﬂIEEE_E%) 5B X5 ﬁ%ﬁiﬁ $ﬁﬂE§$ﬁ%)
7 7 ) | wx | x| FEE 2B e 7 m | A | R | ERE 2E
EeoL ML 4 169.9 |73.3 [78.2 | 75.4 ezt 12 [67.3 |68.7 [72.7 |70.4
ey (B S & 4 [80.3 [83.9 [87.0 |85.7 o | B 12 |57.4 |62.8 [67.8 {66.0
DHEEF e 6 |66.2 [72.1 [76.3 | 73.8 DR gy 8 (48.7 |53.7 |57.6 |57.4
EHULEEXILE BEORECETASE| 18 (68.9 |74.5 [77.8 | 77.2 BEHOER 4 [51.8 [53.2 |58.6 [57.6
EE~OBED - B - B 0 - - - - MEAQBID - B - B 0 - - - -
9 - BCEEN 69.9 {73.3 [78.2 | 75.4 oy [BEOBAACELS - - - -
SFHOBAE |2 BN 80.3 [83.9 [87.0 | 85.7 BT B ke 20 62.6 [65.0 |69.9 [68.2
HOHEEN 66.2 [72.1 |76.3 | 73.8 YEOEMALLISOLTOME - B8 | 16 [52.5 |57.6 [61.4 |60.2
ST OV TOME - B - Hhe 18 [68.9 |74.5 |77.8 | 77.2
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